


Area of a Rectangle



Area of a Rectangle
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Area of a Parallelogram
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Area of a Parallelogram
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3)  Make an equation and then solve for the missing value.

A = 54 cm2



4)  Make an equation and then solve for the missing value.

A = 36 mm2
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Area of a Triangle

8 m

5 m



Area of a Triangle

6 m

4 m



Area of a Triangle

7 m

4 m



Area of 

Triangle =



3 cm

10 cm

1)

Find the area.  Show complete work.

6 cm

14 cm

2)



3)

Find the area.  Show complete work.

5 cm

9 cm



This is a Trapezoid

•It has ONLY 1 pair 

of parallel sides!!!
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